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Derivatives of Functions Containing Logarithms @
2012 - 2013 Fall Semester MATH 1350 (Barsamian) Class Drill
(based on Section 4-2 Example 2 and Example 3 and suggested exercise 4-2#19)

(A)Let f(x) =12 ln( ) Find f'(x). Hint: Start by rewriting f using a rule of logarithms.
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(B) Let f(x) = 12In(x"?). Find f'(x). Hint: Start by rewriting f using a rule of logarithms.
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(C) Let f(x) = 12xIn(13). Find f’ ().
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Question (D) is on back. =»
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(D)The goal is to find the equation of the line tangent to the graph of the function
f(x) =5+In(x3?)
at the point where x = e?.

Remember that the approach is to build the general form of the equation for the tangent line (in
point-slope form):
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Part I Get Parts
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Part II Substitute Parts Into the Equation
Substitute the parts that you have found into the tangent line equation. Then convert your
equation to slope intercept form.
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Class Drill 6: Don’t Forget the Easy Derivative Rules

[1] Let f(x) = 7(x? + 3x + 5)
(A) Find f'(x), using the Product Rule to deal with the 7 in front.
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(B) Start over. Find f’(x) again, this time using the Constant Multiple Rule to deal with the 7 in front.
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[2] Let f(x) = w

(A) Find f'(x), using t1'716 Quotient Rule to deal with the fraction.
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(B) Start over. Find f'(x) again, but this time do not use the Quotient Rule. Instead, start by rewriting f
as a constant times a term in parentheses. Then use the Constant Multiple rule
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